
  

   (Assignment)                2015-2016 

Master of Arts Programme (M.A.)  

 

”           

Subject: Economics         Subject Code : MAEC 

DeeefLe&keâ efmeæevle     

Subject Title  : Economic Theory                                 Course Code : MAEC-01(O)/ 

                                                                                    MAEC-01(N) 

   

   Maximum Marks: 30 

 
 :  

  
Note:  Long Answer Questions. Answer should be given in 800 to 1000 words.  

Answer all questions. All questions are compulsory. 

Section - A 

 
                                                                                                          MMaaxxiimmuumm  MMaarrkkss::  1188 

 

1. lešmLelee Je›eâ keâer meneÙelee mes efmeæ keâerefpeS efkeâ keâercele ØeYeeJe, DeeÙe ØeYeeJe leLee Øeefle%emLeeheve 

ØeYeeJe keâe Ùeesie neslee nw ~    6 

 Prove, with the help of Indifference Curve, that Price Effect is sum 

of Income Effect and substitution Effect.     

 

2. heefjJele&veMeerue DevegheeleeW kesâ efveÙece keâer JÙeeKÙee keâerefpeS~ Fme efveÙece keâer ef›eâÙeeMeeruelee kesâ keâejCe 

yeleeFÙes~       6 

 Illustrate the Law of variable Factor Proportion. State the causes of 

operation of this law.     
 

3. DehetCe& ØeefleÙeesefielee leLee SkeâeefOekeâeefjkeâ ØeefleÙeesefielee ceW Devlej Yeso keâerefpeS~ Deuhekeâeue ceW 

SkeâeefOekeâeefjkeâ ØeefleÙeesefielee kesâ Devleie&le heâce& kesâ meecÙe keâer efJeJesÛevee keâerefpeS~     6 

 Distinguish between Imperfect competition and Monopolistic 

competition. Explain equilibrium of a firm under Monopolistic 

competition in short run.  

       
 

   Section – B 

   KeC[ - ye   DeefOekeâlece Debkeâ     :  12   



      Maximum Marks:  12 

 

veesš  :  ueIeg GòejerÙe ØeMve ~ ØeMveeW kesâ Gòej 200 mes 300 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Short Answer Questions. Answer should be given in 200 to 300 
words. All questions are compulsory.  

 

4. ‘ceeBie keâer ueesÛe’ DeJeOeejCee keâe DeLe&MeeŒe ceW cenlJe yeleeFÙes~   2 

  

 State the importance of the concept „Elasticity of Demand‟ in 

economics.    

 

5. Deevleefjkeâ leLee Jee¢e efceleJÙeefÙeleeDeeW keâe DeLe& mhe° keâerefpeS~  2 

  

 Explain the meaning of internal and external economics.      

 

6. ‘hetCe& ØeefleÙeesefielee kesâ Devleie&le heâceX keâercele mJeerkeâejkeâ nesleer nQ efveOee&jkeâ veneR’ JÙeeKÙee keâerefpeS~  2 

  

 „Firms are Price Taker and not Price Maker under Perfect 

Competition‟ Discuss.      

 

7. DeuheeefOekeâej kesâ Devleie&le ceebie Je›eâ efJekegbâefÛele keäÙeeW neslee nw ?  2 

 

 Why is the demand Curve „kinked‟  under Oligopoly?    

 

8. keâervme kesâ lejuelee hemeboieer Je›eâ keâer JÙeeKÙee keâerefpeS~   2 

 

 Explain the Liquidity Preference Curve of Keynes. 

 

9. keâuÙeeCe DeLe&MeeŒe keâer meerceeSB yeleeFÙes~     2 

 

 State the limitations of the Welfare Economics.   



   (Assignment)                2015-2016 

Master of Arts Programme (M.A.)  

 

”           

Subject: Economics        Subject Code : MAEC 

DeeefLe&keâ efmeæevle - ~~   

Subject Title  : Economic Theory- II                            Course Code : MAEC-02(O)/ 

                                                                                    MAEC-06(N) 

 

  

   

   Maximum Marks: 30 

 
 :  

  
Note:  Long Answer Questions. Answer should be given in 800 to 1000 words.  

Answer all questions. All questions are compulsory. 

Section - A 

 
                                                                                                          MMaaxxiimmuumm  MMaarrkkss::  1188 

 

1. ‘‘keâervme ves Øeefleef‰le DeLe&MeeefŒeÙeeW kesâ Deveskeâ Âef°keâesCeeW keâes Ûegveewleer oer leLee DeLe&MeeŒe ceW Skeâ 

›eâeefvle GcheVe keâer~’’ Fme keâLeve keâer efJeJesÛevee keâerefpeS~   6 

 “Keynes challenged the several views of classical economists and 

brought about a revolution in economics.” Discuss the statement.      

 

2. IS leLee LM Je›eâeW keâer efJeMes<eleeDeeW keâes mhe° keâerefpeS~ keäÙee IS leLee LM Je›eâeW kesâ ceOÙe keâe 

meblegueve meowJe efmLej neslee nw?       6 

 Discuss the features of I.S. and L.M. curves. Is the equilibrium 

between IS and LM curves always stable?     
 

3. cegõe keâer ceeBie kesâ øeâer[cewve efmeæevle keâer JÙeeKÙee keâerefpeS~ Ùen keâervme kesâ cegõe keâer ceebie kesâ efmeæevle 

mes efkeâme Øekeâej efYeVe nw?        6 

 Exlain Friedman‟s theory of demand for money. How does it differ 

from Keynes‟ theory of demand for money? 

  

       
 



   Section – B 

   KeC[ - ye   DeefOekeâlece Debkeâ     :  12   

      Maximum Marks:  12 

 

veesš  :  ueIeg GòejerÙe ØeMve ~ ØeMveeW kesâ Gòej 200 mes 300 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Short Answer Questions. Answer should be given in 200 to 300 

words. All questions are compulsory.  
 

4. je°^erÙe DeeÙe uesKeebkeâve ceW meefcceefuele veneR efkeâÙes peeves Jeeues ef›eâÙeekeâueeheeW keâe GuuesKe keâerefpeS~   2 

  

 Mentions the activities that are not included in national income 

accounting.     

 

5. Yegieleeve Mes<e kesâ Ûeeuet Keeles leLee hetBpeer Keeles kesâ Debleie&le meefcceefuele efkeâÙes peeves Jeeues IeškeâeW keâer Skeâ 

mebef#ehle ™hejsKee oerefpeS~     2 

  

 Give a brief outline of the components covered under current 

account and capital account of balance of payments.  

 

6. ‘efve<hebo cegõemheâerefle’ mes Deehe keäÙee mecePeles nQ ?    2 

  

 What do you mean by „Stagflation‟?      

 

7. ‘‘mJeCe& Ùegie’’ keâer mebkeâuhevee mhe° keâerefpeS~    2 

 

 Clarify the concept of “Golden Age”.    

 

8. Skeâ JÙeeheej Ûe›eâ keâer DeJemLeeDeeW keâe efÛe$eCe keâerefpeS~    2 

 

 Illustrate the stages of a trade cycle.  

 

9. vekeâo Deejef#ele Devegheele keâe DeLe& leLee GheÙeesie mecePeeFÙes~    2 

 

 Explain the meaning and use of the Cash Reserve Ratio. 



  

   (Assignment)                2015-2016 

Master of Arts Programme (M.A.)  

 

”           

Subject: Economics        Subject Code : MAEC 

  

Subject Title  : PPuubblliicc  EEccoonnoommiiccss                                     Course Code : MAEC-03(O)/ 

                                                                                     MAEC-02(N) 

 

  

   

   Maximum Marks: 30 

 
 :  

  
Note:  Long Answer Questions. Answer should be given in 800 to 1000 words.  

Answer all questions. All questions are compulsory. 

Section - A 

 
                                                                                                          MMaaxxiimmuumm  MMaarrkkss::  1188 

                1. Discuss the different canons of taxations. 6 

  

2. Clarify the Public Expenditure in Welfare State.  6 

  

3. Throw Light on the problems of public debt management in developing countries.  6 

  

Section - B 

12 

Maximum Marks : 12

 Note :  Short Answer Question. Answer should be given in 200 to 300 words. Answer all questions. 

All questions are compulsory.

200 300 

 4. Discuss the characteristics of social goods.  2 

  

5. Explain the concept of Balanced Budget multiplier.  2 



  

6. Write a note on double Taxation.  2 

7. Explain the principle of Federal Finance.  2 

  

8. What do you understand by Taxable capacity?  2 

  

 9. Discuss the Fiscal-Reform in India.  2 

  

 



   (Assignment)                2015-2016 

Master of Arts Programme (M.A.)  

 

”          

Subject: Economics        Subject Code : MAEC 

heefjceeCeelcekeâ efJeefOeÙeeB   

Subject Title  : Quantitative Methods                         Course Code : MAEC-04(O)/ 

                                                                                    MAEC-03(N) 

    

   Maximum Marks: 30 

 
 :  

  
Note:  Long Answer Questions. Answer should be given in 800 to 1000 words.  

Answer all questions. All questions are compulsory. 

Section - A 

 
                                                                                                          MMaaxxiimmuumm  MMaarrkkss::  1188 
 

1. Deewmele DeeÙe, meerceevle DeeÙe leLee ceebie keâer ueesÛe kesâ ceOÙe mecyevOe JÙeglheVe keâerefpeS~  6 

 Derive the relationship among average revenue, marginal revenue 

and elasticity of demand.       
 

2. efvecve DeeJÙetefnkeâer keâer Øeefleueesce DeeJÙetefnkeâer %eele keâerefpeS~     6 

 Find out the inverse for the following matrix: 

      
 

 

 

3. efvecve mecebkeâeW mes efJeÛeueve iegCeebkeâ keâer ieCevee keâerefpeS~       6 

 Calculalte the coefficient of variation from the following data:  

      Jeie& - Deblejeue        DeeJe=efòe  

  (Class Interval)   (Frequency)  

  0 – 10    6 

  10 – 20    12 

  20 – 30    21 

  30 – 40    7 


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  40 – 50    4 

     

 

                                                          Section – B 

   KeC[ - ye   DeefOekeâlece Debkeâ     :  12   

      Maximum Marks:  12 

 

veesš  :  ueIeg GòejerÙe ØeMve ~ ØeMveeW kesâ Gòej 200 mes 300 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Short Answer Questions. Answer should be given in 200 to 300 

words. All questions are compulsory.  
 

4. Ùeefo  

xxxxy


  nes lees efmeæ keâerefpeS :      2 

  

     

 

 thatprovexyIf
xxx ,



  

 

  

 

 

5. heâueve keâer heefjYee<ee oerefpeS~ DeLe&MeeŒe mes efkeâvneR leerve heâueveelcekeâ mebyebOeeW keâes efueefKeS~ 2 

 Define a function. Give examples of any three functional 

relationship from economics.   

 

6. kesâvõerÙe ØeJe=efòe kesâ efJeefYeVe ceeheeW keâes meb#eshe ceW mecePeeFÙes ~   2 

 Explain the various measures of Central tendency in brief.       

 

7. Skeâ DeeoMe& metÛekeâebkeâ efkeâve hejer#eCeeW hej Keje Glejlee nw, meesoenjCe mecePeeFÙes~ 2 

 Explain with examples the tests for an ideal index number.     

 

8. meejefCekeâ efJeefOe mes efvecve Ùegiehele meceerkeâjCeeW keâes nue keâerefpeS~   2 

 Solve the following simultaneous equations, using determinant 

method :  

       X + y + 2 = 0  

       X – 2y – 1 = 0  

 

9. Ùeefo meerceevle ueeiele heâueve                      nw Deewj 3 FkeâeF& Glheeove keâer kegâue ueeiele 130 

nes, lees kegâue ueeiele heâueve %eele keâerefpeS~       2 

 If marginal cost function is :  

 

                 and if the total cost is 130 when output is 3, find  

  

 the total cost function. 
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   (Assignment)                2015-2016 

Master of Arts Programme (M.A.)  

 

”          

Subject: Economics        Subject Code : MAEC 

  

Subject Title  :                                                                   Course Code : MAEC-05(N) 

                                                                                     

    

   Maximum Marks: 30 

 
 :  

  
Note:  Long Answer Questions. Answer should be given in 800 to 1000 words.  

Answer all questions. All questions are compulsory. 

Section - A 

 
                                                                                                          MMaaxxiimmuumm  MMaarrkkss::  1188 

11..  WWhhaatt  iiss  rreesseerrcchh  tteecchhiinniiqquuee??  EExxppllaaiinn  tthhee  qquuaalliittaattiivvee  mmeetthhoorrdd  ooff  rreesseerrcchh        

          tteecchhiinniiqquuee  ..  

??  

22..  wwhhaatt  aarree  cchhaarraacctteerrssttiicc  ooff  aa  ggoooodd  qquueessttiioonnnniirree??  WWhhaatt  aarree  tthhee  mmaaiinn  ppooiinnttss  ttoo        

          bbeeaarr  iinn  mmiinndd  wwhhiillee  pprreepprraarriinngg  aa  qquueessttiioonnnnaaiirree..  

22..

33..  wwwwhhaatt  ddoo  yyoouu  mmeeaann  bbyy  HHyyppootthheessiiss  ??  DDeessccrriibbee  aannyy  oonnee  mmeetthhoodd  ttoo  tteesstt  tthhee            

          HHyyppootthheessiiss    

  

Section - B 

  what is probability? 

4

5. Write the kinds of tabulation. 

5. 

6. Differencate between regreshion and correlation. 

6.



7. Meaning of social Research . 

7.

8.Additional or rotal theorem of probability. 

8.

9. T-distribution. 

9.



   (Assignment)                2015-2016 

Master of Arts Programme (M.A.)  

 

”           

Subject: Economics        Subject Code : MAEC 

Devleje&°^erÙe JÙeeheej    

Subject Title  : International Trade                              Course Code : MAEC-05(O)/ 

                                                                                    MAEC-07(N) 

 

  

   

   Maximum Marks: 30 

 
 :  

  
Note:  Long Answer Questions. Answer should be given in 800 to 1000 words.  

Answer all questions. All questions are compulsory. 

Section - A 

 
                                                                                                          MMaaxxiimmuumm  MMaarrkkss::  1188 

 

1. Devleje&°^erÙe JÙeeheej kesâ legueveelcekeâ ueeiele ueeYe efefmeæevle keâe DeeueesÛeveelcekeâ cetuÙeebkeâve    

keâerefpeS?     6 

 Critically evaluate the comparative cost theory of International 

Trade.       

 

2. ØeMegukeâ mes Deehe keäÙee mecePeles nQ? ØeMegukeâ kesâ DeebefMekeâ Je meeceevÙe mevlegueve ØeMegukeâ keâe efJeJesÛeve 

keâerefpeS~        6 

 What do you mean by tariff? Discuss the effects of tariff in partial 

and general equilibrium.      
 

3. Yegieleeve mevlegueve Deewj JÙeeheej Mes<e ceW Deblej mhe° keâerefpeS ~ Yegieleeve mevlegueve ceW DemeecÙe keâes otj 

keâjves kesâ mevoYe& ceW Deehe keäÙee GheeÙe megPeeÙeWies~ JÙeeKÙee keâerefpeS~      6 

 Differentiate between Balance of Payment and Balance of Trade. 

What measures would you suggest to correct the disequilibrium in 

balance of Payments. Explain. 

  

       



     

  

                                                           Section – B 

   KeC[ - ye   DeefOekeâlece Debkeâ     :  12   

      Maximum Marks:  12 

 

veesš  :  ueIeg GòejerÙe ØeMve ~ ØeMveeW kesâ Gòej 200 mes 300 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Short Answer Questions. Answer should be given in 200 to 300 

words. All questions are compulsory.  
 

4. ØemleeJe Je›eâ Deewj Glheeove mecYeeJevee Je›eâ ceW Devlej mhe°  keâerefpeS~ Fmes DeejsKeeW Éeje   

mecePeeFÙes~      2 

  

 Differentiate between offer curve and Production Possibility curve. 

Discuss it with the help of diagram.      

 

5. Devegketâuelece ØeMegukeâ mes keäÙee DeefYeØeeÙe nw? Fmes JÙeJeefmLele efÛe$e Éeje mecePeeFÙes~  2 

  

 What do you mean by optimumum tariff? Explain it with suitable 

digram 

 

6. mJeleb$e JÙeeheej #es$e, meePee yeepeej leLee DeeefLe&keâ SkeâerkeâjCe keâes heefjYeeef<ele keâerefpeS~   2 

  

 Define the concept of Free trade Area (FTA) Common Market and 

Econimic integration.      

 

7. DeJecetuÙeve kesâ ueesÛe efJeefOe keâe efJeMues<eCe keâerefpeS ~    2 

 

 Explain the elesyicity approach of Devaination .    

 

8. Devleje&°^erÙe cegõe keâes<e kesâ ØecegKe GöbMÙeebs SJeb keâeÙeeX keâe efJeMues<eCe keâerefpeS~  2 

 

 Explain the important objeect and functions of international 

Monotry fund (IMF) 

 

9. Skeâue yeÇeC[ Deewj yeng-yeÇeC[ ØelÙe#e efJeosMeer efveJesMe ceW Devlej mhe°  keâerefpeS~ Yeejle kesâ mevoYe& ceW 

ØelÙe#e efJeosMeer efveJesMe kesâ cenlJe keâer JÙeeKÙee keâerefpeS~     2 

 

 Distinguesh between Single brand FDi and Multi Brand 

FDi?.Expalin the Investment (FDI) in context of India. 



   (Assignment)                2015-2016 

Master of Arts Programme (M.A.)  

 

”         

Subject: Economics  Subject Code : MAEC 

YeejleerÙe DeLe&MeeŒe keâe GlLeeve     

Subject Title  : Development of Indian Economics  Course Code : MAEC-06(O)/ 

                                                                                    MAEC-08(N) 

 

  

   

   Maximum Marks: 30 

 
 :  

  
Note:  Long Answer Questions. Answer should be given in 800 to 1000 words.  

Answer all questions. All questions are compulsory. 

Section - A 

 
                                                                                                          MMaaxxiimmuumm  MMaarrkkss::  1188 

 

1. Yeejle ceW efheÚues  oes oMekeâeW ceW efveOe&velee kesâ mlej ceW ngF& keâceer keâer efJeJesÛevee keâerefpeS~  6 

 Discuss the extent of poverty reduction in India during te last two 

decades.        

 

2. Yeejle kesâ DeeefLe&keâ efJekeâeme nsleg DeeefLe&keâ efveÙeespeve keâer DeeJeMÙekeâlee leLee Ùeesieoeve mecePeeFÙes~    6 

 Explain the need and contribution of economic planning for the 

economic development of India.       
 

3. Yeejle ceW nefjle ›eâeefvle keâer Øeke=âefle, keâejCe Deewj ØeYeeJeeW keâer efJeJesÛevee keâerefpeÙes~       6 

 Discuss the nature, causes and impact of green revolution in India. 

  

       
   Section – B 

   KeC[ - ye   DeefOekeâlece Debkeâ     :  12   

      Maximum Marks:  12 

 

veesš  :  ueIeg GòejerÙe ØeMve ~ ØeMveeW kesâ Gòej 200 mes 300 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 



Note:  Short Answer Questions. Answer should be given in 200 to 300 
words. All questions are compulsory.  

 

4. efJekesâefvõle efveÙeespeve keäÙee nw?      2 

  

 What is decentralized planning ?      

 

5. ‘‘DeeefLe&keâ efveÙeespeve keâer meheâuelee DeeJeMÙekeâ ™he mes nerveeLe& ØeyevOeve kesâ efveÙeb$eCe keâer meheâuelee hej 

efveYe&j nw~’’ meceer#ee keâerefpeS~      2 

  

 “Success of economic planning essentially depends upon 

successful control of deficit finance.” Discuss it.   

 

6. YeejleerÙe DeLe&JÙeJemLee ceW yeng je°^erÙe efveieceeW keâer Yetefcekeâe keäÙee nw?   2 

  

 What is the role of MNCs in Indian economy?      

 

7. ‘‘Yeejer GÅeebsie’’ keâe DeeMeÙe mecePeeFÙes~     2 

 

 Explain the concept of Heavy Industries?    

 

8. ‘‘efveOe&velee keâe ogMÛe›eâ ’’ DeeefLe&keâ efJekeâeme ceW keäÙeeW yeeOee nw?    2 

 

 Why is vicious circle of poverty an obstacle in economic 

development? 

 

9. Yeejle ceW iejeryeer keâe ceeheve kewâmes efkeâÙee peelee nw? iejeryeer keâer jsKee keäÙee nw?  2 

 

 How is poverty measured in India? What is poverty line?  



   (Assignment)                2015-2016 
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”          

Subject: Economics         Subject Code : MAEC 

  

Subject Title  : LLaabboouurr  EEccoonnoommiiccss                          Course Code : MAEC-07(O)/ 

                                                                                    MAEC-04(N) 

 

  

   

   Maximum Marks: 30 

 
 :  

  
Note:  Long Answer Questions. Answer should be given in 800 to 1000 words.  

Answer all questions. All questions are compulsory. 

Section - A 

 
                                                                                                          MMaaxxiimmuumm  MMaarrkkss::  1188 

 

               1.     

6

  Write in brief on the trade union movement in India in today's Market economy system what 

future you find for Trade Union? Explain. 

2. 6

What are minimum wage fair wage and living wage  Explain. 

 3. 6

What do you understand by Man Power Planning \ Explain 

Section - B 

12 

Maximum Marks : 12

200 300 

 Note :  Short Answer Question. Answer should be given in 200 to 300 words. Answer all questions. 

All questions are compulsory.

 4. 

2



What are main reasons of Industrial Disputes in India? Explain. 

 5. 2

  What do you understand by Wage diferentials.  Explain 

 6. 2

Why the supply curve of Labour in backword sloping? Explain 

 7. 2

DFiscuss the marginal productivity theory of wages. 

 8. 2

Discuss the nature and extent of unemployment in India. 

 9. (I.L.O.) 

2

Explain the objectives of I.L.O. 

 
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”           

Subject: Economics        Subject Code : MAEC 

#es$eerÙe DeeefLe&keâ efJekeâeme SJeb efveÙeespeve     

Subject Title  : Regional Economic Development    Course Code : MAEC-08(O)/ 

             and Planning                                                     MAEC-09(N) 

 

                 .  

  

   

   Maximum Marks: 30 

 
 :  

  
Note:  Long Answer Questions. Answer should be given in 800 to 1000 words.  

Answer all questions. All questions are compulsory. 

Section - A 

 
                                                                                                          MMaaxxiimmuumm  MMaarrkkss::  1188 

 

1. hetCe& ØeefleÙeesieer yeepeej SJeb SkeâeefOekeâej yeepeej keâer ØecegKe efJeMes<eleeSB yeleeFÙes~ meeLe ner hetCe& ØeefleÙeesieer 

yeepeej kesâ Devleie&le Deuhekeâeue Deewj oerIe&keâeue ceWs keâce& kesâ meblegueve keâes mecePeeFÙes~  6 

 Discuss the main characteristics of perfect competition and 

Monopoly. Explain the equilibrium of firm in short-run and long-

run under perfect competition.        

 

2.De) #ebs$eerÙe mebJe=efæ mes keäÙee DeeMeÙe nw? n<e&cewve kesâ efmeæevle keâe meceer#eelcekeâ cetuÙeebkeâve keâerefpeS~   3 

   a) What do you mean by Regional Growth? Critically evaluate the 

Hirschman theory.    

 

2.ye) efveÙeespeve mes keäÙee DeeMeÙe nw? Fme mevoYe& ceW ueebies kesâ cee[ue keâer efJeJesÛevee keâerefpeS~ 3 

   b) What do you mean by Planning? Discuss Lange‟s model in context 

of planning.      
    



3. De) ke=âef<e Glheeove Je Glheeokeâlee mes keäÙee DeeMeÙe nw? Yeejle ceW ke=âef<e Glheeove Je Glheeokeâlee keâes yeÌ{eves 

keâer efoMee ceW G"eÙes ieÙes efJeefYeVe keâoceeW keâer mebef#ehle ceW efJeJesÛevee keâerefpeS~  3 

 What do you mean by agricultural production and productivity? 

Discuss briefly the various steps taken to enhance the agricultural 

production and productivity in India.  

 

3.ye) kesâefvõleke=âle Deewj efJekesâefvõleke=âle efveÙeespeve mes Deehe keäÙee mecePeles nQ? Jele&ceeve heefjhesÇ#Ùe ceW ceneveiejeW 

keâer cegKÙe mecemÙeeSB keäÙee keäÙee nQ? mecemÙeeDeeW kesâ meceeOeeve kesâ efueS Deehe keäÙee GheeÙe megPeeÙeWies?   6 

 What do you mean by Centralized and Decentralized planning? 

What are the major problems of metropolitan cities in present 

scenario? What remedies would you suggest to solve these 

problems?      
       
   Section – B 

   KeC[ - ye   DeefOekeâlece Debkeâ     :  12   

      Maximum Marks:  12 

 

veesš  :  ueIeg GòejerÙe ØeMve ~ ØeMveeW kesâ Gòej 200 mes 300 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Short Answer Questions. Answer should be given in 200 to 300 
words. All questions are compulsory.  

 

4. meecÙeeJemLee mes Deehe keäÙee mecePeles nQ? Fmekesâ ØekeâejeW keâes yeleeFÙes? 2 

  

 What do you mean by equilibrium stage? Discuss its various types.      

 

5. DeewÅeesefiekeâ keâecheueskeäme mes keäÙee DeeMeÙe nw? DeewÅeesefiekeâ keâecheueskeäme leLee Fmekesâ hewâueeJe keâer veerefleÙeeW 

keâes mhe° keâerefpeS~      2 

  

 What do you mean by Industrial Complex? Justify the Industrial 

Complex and its expansion policy.   

 

6. #es$eerÙe Demeblegueve mes keäÙee DeeMeÙe nw? #es$eerÙe Demeblegueve keâes keâce keâjves keâer efoMee ceW Deheves megPeeJeeW 

keâes mhe° keâerefpeS~       2 

  

 What do you mean by Regional Imbalance? Explain the causes for 

Regional Imbalance? Justify your recommendations in the direction 

of reducing this imbalance.       

 

7. ØeJeeme mes keäÙee DeeMeÙe nw? «eeceerCe #es$eeW mes MenjeW keâer Deesj ØeJeeme keâer ØeJe=efòe kesâ keâejCeeW hej ØekeâeMe 

[eefueS~      2 

 

 What do you mean by migration? Highlights the reasons for nature 

of migration from rural areas to urban areas.     

 

8. #es$eerÙe efveÙeespeve mes keäÙee DeeMeÙe nw? Jeešj Mes[ ØeyevOeve keâeÙe&›eâce hej mebef#ehle ØekeâeMe [eefueS~  2 

 



 What do you mean by Regional Planning? Write a short note on 

water-shed management programme.   

 

9. ueIeg efšhheCeer efueefKeÙes -       2 

 De) efpeuee efveÙeespeve Deewj veiej efveÙeespeve     ye)   hebÛeeÙeleer jepe mebmLeeSB ~ 

 

 Write a short note on – 

a) District Planning and Town Planning.  

b) Panchayati Raj Institutions.  

 

 


